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CE 278 Structural Analysis

Tutorial (1)
Beams and Frames Reactions



Example (1): Determine the reactions at the supports for the beam shown.
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Example (2): Determine the reactions at the support for the beam shown.
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Free Body Diagram:
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Example (3): Determine the reactions at the support for the beam shown.
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Example (5):
Determine the
reactions at the
support for the
frame shown.

25 kN/m
B

My &P
Ny

Free Body Diagram




e

—linsm—q *A=0

A L=\S0 kN —

-\{,?_MA-_-. 0
-M, + .\iws)gq_\ R)=0b
MA - \200 ’kN.mD

Free Body Diagram




Questions?

-/
S

y
|
\_/

) —



